< 1CAREER POWER

AN IIT/IIM ALLUMNI COMPANY

Q1. If an interior of a regular polygon is 170°, then the number of sides of the polygon is:
I TF ARG TEHST T SAARF HIT 170 © §, T TEHST ol AT 6T €47 fhaeit g2

(a) 36

(b) 20

(c)18

(d) 27

Q2. What is the sum of the measures of all the interior angles of a regular polygon of 5 sides?
5 YSITSH o U AT TG o6 Tt SAATF IV o /TG AT JIT 4T 872

(a) 720

(b) 1080

(c) 1260

(d) 540

Q3. In a right angle triangle ABC, £A is right angle DE is parallel to the hypotenuse BC and the
length of DE is 65% the length of BC, what is the area of AADE, If the area of AABC is 68 m? ?

T HHI Bt ABC #, £A 995197 §, DE F7 BC % GHTHiq< § i< DE FI @a15 BC FY FaTS F71 65% §. I

AABC FT &% 68 m? g a7 AADE T &57%d 4T 57
C

A D B
(a) 27.83 cm?

(b) 41.6 cm?

(c) 28.73 cm?

(d) None of the above / 37H & &< Agl

Q4. In the given figure, P and Q are the mid-points of AC and AB. Also, PG = GR and HQ = HR. What

. - ) ”
is the ratio of area of APQR : area of AABC ? T —

& AT srEfa H, P iR Q, AC 3T AB & weq fg €1 AT g1, PG = GR 3} & B rubiications
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(@) 1/2
(b) 2/3
(c)3/5
(d) none of the above / TTH & Fls A!

Q5. If medians of a triangle are 6 cm, 8 cm and 10 cm. Find the area of triangle.
T w Bt &t wrfeaar 6 A, 8 At siw 10 A &) Breget &1 &orwer s Hifsm)

(a) 24 cm?

(b) 32 cm?

(c) 36 cm?

(d) 40 cm?

Q6. AABC and APQR both are similar and perimeter of AABC and APQR are 24 cm and 36 cm
respectively if AB = 10 cm. Find PQ?

AABC 3T APQR T HT § 3 AABC 3fiX APQR #t afRfer swer: 24 g+ #iix 36 ¥t € 71 AB = 10 aft
& PQ T qaT *RITG?

(a) 15

(b) 18

(c) 20

(d) 10

Q7.1In a triangle PQR, PQ = PR and £Q is twice that of ZP. Then £Q is equal to
T# 39T PQR #, PQ = PR 3T £Q, £P & ¥ T &1 T« 2Q g & sraX gRm?

(a) 72°

(b) 36°

(c) 144°

(d) 108°

Q8. If the length of a chord of a circle is 16 cm and is at a distance of 15 cm from the centre of the
circle, then the radius of the circle (in cm) is:

2 et g 1 S i waTE 16 3 & AT aT F FT A 15 A0 K g T E, A7 9 - Biwar (3 ) w0
(a) 15
(b) 16
(c)17
(d) 34

(, addazyt
Q9. In triangle ABC, P and Q are the mid points of the sides AB & & festseries

and AC respectively. R is a point on the segment PQ such that PR
:RQis 1:2if PR =2 cm. find the length of BC. ssc CGL PRIME

Byt ABC &, P 3% Q, FHT: ST AB 3% AC ¥ #ex foig §. W@@s PQ : %0]?7
W RTF g @ @R PR: RQ=1:2 % 3k PR=2 & &, 97 BC 00+ Total Tests
FW@T% ; v'75 Tier-l Mocks
hil T L. v 40 Tier-1l Mocks
(a) 6cm v 78 Previous Years' Tier-l Papers
(b) 8cm v 20+ Previous Years Tier-ll Papers
(c) 10 cm v 200+ General Awareness Topic wise Sets

(d) 12 cm
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Q10. Triangle ABC is similar to triangle PQR and AB : PQ = 2 : 3. AD is the median to the side BC in
triangle ABC and PS is the median to the side QR in triangle PQR. What is the value of (BD/QS)??
st ABC 3131 PQR & |99 § i< AB: PQ = 2: 3 §1 AD 35t ABC & {[SIT BC il A1{eq%7 5 fiX PS B
PQR # ST QR #T ATfEa=hT &1 (BD/QS)? FT HIT AT L.

(@) 3/5

(b) 4/9

(c)2/3

(d) 4/7

Q11. In the given figure, B and C are the centres of the two circles. ADE is the common tangent to
the two circles. If the ratio of the radius of both the circles is 3 : 5 and AC = 40, then what is the
value of DE?

R T s &, B 37 C & 997 % Fw §1 ADE <Y 99 it arAT=y Tasiaat §1 afE e g9 o Brer & s 3:
5§ 3 AC =40, qF DE T | AT <.

@ V1

(b) VIS
(¢) 8V15
(d) +V15

Q12. ABC is a triangle, AD is a median of A ABC, F is a point on side AC, BF meets AD at E and E is
mid point of AD find AF : FC.

ABC T# 33T §, AD, AABC it qTfeaT &, F, ¥ AC 9 UF fg §, BF, AD & E T f3=<¥ & 3} E, AD #it
#ex fdg 8. AF : FC 1T %X,
(@)1:3

(b)1:2 I sfte <t | CGL 2018-19

(c)2:1

(@1:1 SSC CGL TIER-I
PRIME PACKAGE

Q13. Centroid of triangle ABC is G. and AG = BC then find £BGC.

) for 2018 Aspirant
G ST ABC %7 37 § 3 AG = BC dF 2BGC Tq HX
(a) 30° 150+ TOTAL TESTS
(b) 60° v 75 Full Length Mocks
(c) 45° v 78 All Shift papers for 2017 & 2016
(d) 90°
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Q14. In a triangle ABC, AD is the angle bisector of ZBAC and 2BAD = 60°. What is the length of AD?
Bt ABC ®, AD £BAC T FIT {351 & SfiX 2BAD = 60 ° &1 AD it F#TE ATq F<.

A

Vo

b

bt+e

(a) be
be

(b) b+e

)V b2+ c?
(b4ec)?
(d) be

Q15. O is the circumcenter of a triangle AABC. Point A and the chord BC are on the opposite side of
0. If £BOC = 150°. Then the angle 2BAC is:

0 T BT AABC &7 uftahs §. fifg A 3 sfam B, 0 & faadia feem & &1 af¥ ZBoC = 150°. @ For LBAC
T ZRM?

(a) 65°

(b) 60°

(c) 70°

(d) 75°

Q16. The coordinates of the middle points of the sides of a triangle are (4, 2), (3, 3) and (2, 2), then
find the coordinates of its centroid are

Brogst it STl F weg fogen F [Aden (4, 2), (3, 3) 3T (2, 2) €, AV T Fvadh & QM qATG DY

@ (3:)
©)(3)
(©) 43

Q17. The coordinates of incentre of AABC with vertices A(0,6),

B(8, 12) and C(8, 0) is SSCCGL 2018

ofif A (0, 6), B (8, 12) 3fX C (8, 0) & AT A ABC & 3(q: ®g & Aaeri®

i . BOOKS KIT
(a) (1;6 0) 100 SSC CGL Tier-1 Mock Papers
(b) (8,11) 20 + SSC CGL Tier-Il

(c) (-4, 3) Previous Years' Papers 2015-18
(d) (5, 6) ENGLISH MEDIUM @ 699
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Q18. The middle point of the segment of the straight line joining the points (p, q) and (q, - p) is (r/
2, s/ 2). What is the length of the segment?

&g (p, q) 3 (q, - p) F =™ aft Peft @ F G F aeg g (r /2, s / 2) 81 G i da15 FTTE?
@ |(s2 +72%] /2

) [(s2 +71%)z/4

© (s? + 'rz)%
(d)s+r

Q19.
If t, # t, and the point A (a, 0), B(at?, 2at,) and
C(atZ, 2at,) are collinear, then t,t, is equal to

g t, #t, HR &g A(a, 0), B (at,? 2at,) 3R
C (at,? 2at,) TG g, ar t,t, T AT FT 5

IET gRm?

(@1
(b) 2

(c)-1
(d) -2

Q20. The area of quadrilateral ABCD whose vertices in order are A (1,1) B(7,-3),C(12,2) and D
(7,21) is

I3t ABCD & eftef A (1, 1), B (7, -3), C (12, 2) X D (7, 21) &, ST AAHA AT L.

(a) 66 sq units

(b) 132 sq units

(c) 124 sq units

(d) 86.5 sq units

Q21. The area of a triangle is 5 and two of its vertices are A (2,

1), B (3, -2). Then, the third vertex, in Ist quadrant which lies on ssc EXAMS 2019

theliney=x+3is
TF et %7 &5t 5 § i 9% ar i A (2, 1), B (3, -2) ) aF T8 SUPER PRIME

AT & ST y = x + 3 @ X feura § S@ehr e ofid = 32
@ (G35)
(b) GE) 850 + Total Tests
3 3 200 + eBooks
(©) (E'E) 8 Printed Edition Books

Test Series | eBooks | Books

(d) (0,0)
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Q22. If (-5, 4) divides the line segment between the coordinate axes in the ratio 1: 2, then what is
its equation?

i (-5, 4) THTANS & F S @1 @< Fl 1: 2 F Jqura d o w<ar g, v sar awiswr #1787
(a)8x+5y+20=0

(b)5x+8y-7=0

(c)8x-5y+60=0

(d)5x-8y+57=0

Q23. Find the coordinates of the circumcentre of the triangle whose vertices are (8, 6), (8, - 2) and
(2,-2):

st it aiehes & e sTa w3, e i (8, 6), (8, - 2) 3R (2, -2) §.

(a) (2,3)

(b) (5,2)

(c) (5,3)

(d) (7, 2)

Q24. If the coordinates of the mid-points of the sides of a triangle are (1, 1), (2, - 3) and (3, 4). Find
its centroid:

Tfe T FBrger it spermsit % wer-fgei #1 e (1, 1), (2, - 3) 3% (3, 4) & 9% Fsch AT FAT?
2

(@) (3’ 5)
3

(b) (2’ i)

(©) (2' 2)

(d) None of these

Q25.A (- 2,-1),B (1, 0), C (4, 3) and D (1,2) are the four points of a quadrilateral. The
quadrilateral is a :

A(-2,-1),B(1,0), C (4,3) 3T D (1,2) FqHS F < &g §. TSt 05 =02
(a) Square / T

(b) Rhombus / farewehTor
(c) Parallelogram / H9T=A¥ FqHT addazy1

& & testseries
(d) None of (a), (b), (c)/ (a), (b), (c) & & Fs &I

SSC CHSL PRIME

2019
350 + Total Tests

25 Full Length Mocks
140+ Previous Years' Papers
200 + General Awareness Topic wise Sets

BILINGUAL
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